= A
N = 0] &F AF S & AN A
T 20 SIS AIYELESH A
o= 1t
ot=% 2 Xlot=22l
ofeXel oEetRE (ol AL S LS H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
14,165,467 24,883,008 N 10,717,541
& 2 Xlatzx=22 5,044,547 11,388,558 N6,344,011
el QEetR=E(oIESAIEEESH) 22,000 0 22,000
ol AlY X2UBI|Y A& Bl Y9 22,000 0 22,000
207 &I & d 22,000 0 22,000
01 d32E<H| 22,000 0 22,000
Oobt=EAIY XH2)|Y M& ElEdd A
22,000,000 14! 22,000
ot EAX(ota=SASEEESH) 4,821,408 10,868,664 ANB,047,256
AMUSIEZH SXES 603,780 1,006, 300 AN 402,520
401 AlEHIZL S 0HY| 603,780 1,006, 300 AN402,520
01 Al&EH| 600,000 1,000,000 A 400,000
OAUW3ts=2H A 774,000 *258.397m 200,000
OAUWstx=2H =4 60,000& x5,000m 300,000
OANEZE FXNE=H| 300, 300& #3330 A& 100,000
03 Al 201 Y| 3,780 6,300 N2,520
OA&E S0l 600,000,000 x0.63/100 3,780
S -H o2 H KA 563,528 302, 160 261,368
401 AlEHIZL 2 0HY| 563,528 302, 160 261,368
01 Al&H| 560,000 300,000 260,000
O8-H o2 =4 60,000 *750m 45,000
O8 - 9H otx=2t)1 M 774,000€ *129.198m 100,000
OEgH ol HAEH P2 W I &
2 Ab 400,000, 000& = 14! 400,000
O29%e =32 28 ISs4T XA &
AMEH 229 15,000,000 14! 15,000
03 Al&E 201 Y| 3,528 2,160 1,368
20y 560,000,000 x0.63/ 100 3,528
olldl ] (Sk2=1t) 3,654,100 8,553,904 A 4,899,804
801 ollgldl 3,654,100 8,553,904 A 4,899,804
01 ol gl gl 3,654,100 8,553,904 A 4,899,804
oolgl gl 3,654,100, 000& =14 3,654,100
KXotk B (ot ASEESH) 201,139 519,894 A 318,755
Xl ot4=2tel 201,139 519,894 A 318,755
101 @121 d| 28,296 27,330 966
04 JIZtHIZ22XNSE S 28,296 27,330 966
OXggdd Jedxd, A&l 18,739
>l 47 4003 121 %250 11,850
>ANWB 11,850,000 x4/ 12& 3,950




2AM: Gt
M B4 U Nst+nel
¢el: X6t 28 (St AISSE3) (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
DEEE 47,4003 «101 52 2,465
> AX =G 47,4003 *12110L 474
O A A 130,000 11 x12& 1,560
Ons=E =t 120,000& 121 12& 1,440
oAt 224 8,887& x20Al 2t x 121 x12F 2,133
O3z 23 23,872,000& %4 5% 1,075
OCHLBE = 23,872,000& *2.945% 704
OMIRIYEE= 704,000 *6.55% 47
OE=3=0-= 5= 23,872,000& *1.5% 359
OtMEEZ 23,872,000& *1.039% 249
O&&Z 23,872,000& *1/12& 1,990
201 LBr2E| 40,181 16,764 23,417
01 At 2t 2l 11,930 5,340 6,590
O1 get==&H| 11,930
DEUALADE(EH L EHS)
300,000 »12& 3,600
>Xot=0l828= LDXAN HE
100& 10, 0000H 1,000
DXot=gHAL WEHE DM M=
100& =1,0000H 100
DEAAAMNE 22 WY (2.44 )
120,000 =48 A 480
>Xote I+ EBA E22 X M
50& *20,0000H 1,000
D Xote HI+=2HAN EEE S22 M
60,0002 *900H & 5,400
>Xots ASMH 228 00l AYA
350, 0002 =14 350
02 =224l 28,251 11,424 16,827
O1 3322 2 AMA 18,531
>RSI0 EREZ DANAN EE5S QERZ
300& 5000 =12 1,800
DOIGII =2l§ DT &8 RERS
300&+1,00000«12& 3,600
D XISt EI=ZZA 2HUHE 28 2ERS
300& *9,0000H 2,700
DXot==0l8RE= LAAM SIERS ¥
s = 1,770 »3000H 531
>XBHH0IBRES(HES) YRSIES
o Xl ==& QX 3,000& 20004 600
DEXXNSt2E=Y S4lH| 150,000& 128 1,800
DEXXGt2=Y CIHY HE3H AEZ
150,000& 128 1,800
> et 4ot E &3l 5,700,000& » 14! 5,700
O3 Al ZHl s Xl 9,720




2AM: Gt
M ot Y Xlot==2tel
¢el: X6t 28 (St AISSE3) (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
PEZNGAEEY RAE4
180, 000& *27H 2 +23] 9,720
202 o4dl 15,600 10,800 4,800
01 = LH o4 1l 15,600 10,800 4,800
OJI2g =0t 100,000& =421 x12& 4,800
OXlcte= &= el & X3 &I
300,000& #3021 %123 10,800
206 = Hl 1,000 0 1,000
01 MHZ 4l 1,000 0 1,000
OXlot== HEI| SAEIX 1,000,000& 14 1,000
401 Al HI K 201 I 116,062 465,000 A 348,938
01 A& HI 116,062 465,000 A 348,938
OXdt==XE F&=7 1,000,000 204 2 20,000
OEXXot=2=2 &X 40,000,000 204 & 80,000
OXdts =Z2AAN === X &
53,5403 30001 2 16,062
He&s(oh==1) 9,046,695 13,420,303 A 4,373,608
LHEHHXE (St A LSS AH) 9,046,695 13,420,303 A 4,373,608
HEHH X = 9,046,695 13,420,303 A 4,373,608
404 SIS NHENES 507,013 469,000 38,013
01 BILELIAHAN=2EES 507,013 469,000 38,013
Od+==S83H HES 507,013
DA T (MAT XGHE)ANBR 28T L 4
= 476,313,000& x 14! 476,313
Dot (&% X6t+=)AER AEIHE It
U =2 4,500, 0003 =14 4,500
DEEEMN BAFI2E RES
25,000,000& =14 25,000
DAZEIIE ZBHALAE KRIE U
100,000 128 1,200
701 JIEte HEE= 8,539,682 12,951,303 A4,411,621
01 JIEtel HE &= 8,539,682 12,951,303 A4,411,621
O==ZNESEHN dES 8,539,682
DEBIZAE2IH (Gt B2, 2UEY A
"A2E306tx S) 5,043,842,000& 14 5,043,842
DEFII AL SX(ot=2D01,BTL,0tS06t=
CHI S) 3,495,840,000& 14 3,495,840
MY 2HZHl(t==1t) 74,225 74,147 78
ol (Gt AISEEHSI A ) 71,189 67,061 4,128
ol 2A| 71,189 67,061 4,128
101 @124 4] 71,189 67,061 4,128




A Bt
Mz HMSAHH| (ot3=1)
CHel: Q12| (Bl E AR SE 3 H) CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
03 RINHAZ2Z2XNHE %= 71,189 67,061 4,128
OslgsAa (288 JIE) 25,736
= 1,156,450& x121x12& 13,878
DA 32 13,878,000& *4/12 4,626
DAIZAZ 2L 8,988& x20Al 2t*1Q1 x12& 2,158
DAL E 72,2503 *101x 12 867
DA 33,160& 121 %10 332
> & HZAH| 130,000 121+ 12& 1,560
D> uWEE X 120,000& 121+ 12& 1,440
> H L& 21,861,000& *4% 875
OslgdEA (b2 JI= 26,331
>ol23 1,191,510+%121 x12& 14,299
> a3 14,299,000 x4/ 12& 4,767
D>AIZIRIZ2 RS 8,988& x 101 x20A| 2tx12& 2,158
>DEUIRLE 72,2503 101 x 128 867
DAL 34,160& 121 %10 342
> HZAH| 130,000 121 x12& 1,560
D> uWEE X 120,000& 121+ 12& 1,440
> H<LH&HI 22,433,000 *4% 898
O=0dz2 2432 52,067,000& *4.5% 2,344
OHUEE= 52,067,000& *2.945% 1,534
oIy Bg= 1,534 ,000& *6.55% 101
onssgga 52,067,000& *x1.5% 782
OMMMEE = 52,067,000& *1.039% 541
OExAHZ 22 6,019,890 » 14! 6,020
Os& 0l 300,000 201 x12& 7,200
Oll=sHl & gstst 300,000& =201 600
2B (BT AR S B H) 3,036 7,086 £ 4,050
DR sl 3,036 2,536 500
201 Ypte | 2,536 2,536 0
04 XSS K H A HI 2,536 0 2,536
ORJIIH=*Z2 Xt 1,018,000& =201 2,036
OJI2tMZ22 Xkt 500,000& =12l 500
405 XHo&HF S HI 500 0 500
01 JHMY 2= EF S HI 500 0 500
OCI X &3+l 2t 500,000& = 1CH 500




